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No.| DOOD DDDDDDD ooooo | =y n
1| B4216-0R | -12y yx 2 | -12y yx 4 | 0.406 133.4
2| B4216-5R | -12y yx 1 | +12y yx 4| 0.283 93.0
3| B2816-0R > +16y y > 0.550 > 193.4
4| B2816-5R > +16y y > 0.440 > 154.6
5| B2116-0R S+16y y | > 0490 | >174.6
6| B2116-5R > +16y y > 0.424 > 151.1
7| D42160R | -8y yx 1 | -12y yx 2 | 0.283 93.1
8| D4216-5R |+12y yx 1| +16y yx 1| 0.228 74.8
9 D2816-0R |[+12y yx 1| +12y yx 1| 0.264 92.7
10| D2816-5R | -12y yx 2 | +16y yx 1| 0.265 93.3
11| D2112-0R | -16y yx 2 | +16y yx 1| 0.538 191.4
12| D2112-5R [+12y yx 1| +16y yx 1| 0.461 164.1
13| D2116-0R | -14y yx 2 | +16y yx 1| 0.331 118.0
14| D2116-3R |+12y yx 1| +14y yx 1| 0.439 156.4
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